Limiti e continuita’Limiti per x-;a
> restart:
> f:=x->sin(1/x);
>  <br>
f = xsin (m_l)
Funzione dispari
al:=plot(f(x),x=-1.9..-0.1,thickness=2,discont=true):

> a2:=plot(f(x),x=0.1..1.9,thickness=2,discont=true):

> a3:=plot(f(x),x=-3..3,thickness=2,discont=true):

> ad:=plot(f(x),x=-0.3..0.3,thickness=2,discont=true):

> ab:=plot(f(x),x=-0.05..0.05,thickness=2,discont=true):
> plots[display] (al,a2);

>  <br>
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> plots[display] (a3);
<br>



> plots[display] (ad);
<br>

> plots[display] (ab);
<br>



> restart:
> fi=x->x*sin(1/x);
<br>
f =z xsin(z7!)
Funzione pari

> al:=plot([x,-x,f(x)],x=-0.3..0.3,thickness=[1,1,2],colour=[black,black,green]):
> a2:=plot([x,-x,f(x)],x=-0.05..0.05,thickness=[1,1,2],colour=[black,black,green]):

> plots[display](al);
<br>
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> plots[display] (a2);
<br>

R N

> restart:
> fi:=x->sin(x)/x;
<br>

Funzione pari



> al:=plot(f(x),x=-20..20,thickness=2):

> a2:=plot(f(x),x=-Pi..Pi,y=0..1,scaling=constrained,thickness=2):

> a3:=plot(f(x),x=-0.3..0.3,y=0..1,thickness=2,scaling=constrained,thickness=2):
> plots[display](al);

<br>
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> plots[display] (a2);
<br>

> plots[display] (a3);
<br>
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> restart:
> fi:=x->tan(x);
<br>

Funzione dispari

> plot(f(x),x=-4..4,y=-7..
<br>
.
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x +— tan (x)

7 ,thickness=2);
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Funzioni definite a tratti




> restart:
> f:=x->piecewise(x<=0,x,a+x"2);

<br>
. T <0
f'_>$Hé{a+x2 otherwise
> f(x)’=f(x);
<br>
[ (z) = PIECEWISE ([z,z < 0], [a + x2, otherwise])

> f1l:=subs(a=0,f(x));f2:=subs(a=-0.5,f(x));f3:=subs(a=0.5,f(x));
<br>

f1 := PIECEWISE ([z,x < 0], [2?, otherwise])

f2 := PIECEWISE ([z,x < 0],[-0.5 + 22, otherwise])

f3 := PIECEWISE ([z,z < 0],[0.5 4 22, otherwise])

> dl:=plot([f1(x)],x=-1..0,color=[black],thickness=2,discont=true):

<br>

> d2:=plot([f1(x),f2(x),f3(x)],x=0..1,color=[black,black,black],thickness=2,discont=tru
<br>

> plots[display] (d1,d2);
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Limiti per x-;00
> restart:
> fi:=x->sin(x);
<br>

f = x> sin(z)
Funzione dispari



> plot(f(x),x=40..80,thickness=2);
<br>
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> restart:
> fi=x->x/(x"2+7);
<br>

fr=a- oy
Funzione dispari
> plot(f(x),x=-10..10,thickness=2);
<br>




> restart:
> fi=x->x"3/(x+7);
<br>
3
f=z— ;&7
> plot(f(x),x=-5..10,thickness=2,discont=true);
<br>
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> plot(f(x),x=-15..-8.5,thickness=2,discont=true);
<br>
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> plot(f(x),x=-8.5..-5.5,y=-1000..1000, thickness=2) ;
<br>
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> plot(f(x),x=-20..20,y=-500..500,thickness=2);
<br>
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